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I Dlg.cpp :

1

#include "stdafx.h"

#include " .h"
#include " Dlg.h"
#include"FbiAd.h"

#ifdef _DEBUG

#define new DEBUG_NEW
#undef THIS_FILE

static char THIS_FILE[] = _ FILE_;
HANDLE hDeviceHandle;
WORD wSmpData[30000][5];
int SamplingNum;

inti;

ULONG ulSmpINum;
ADSMPLREQ SmplConfig;

int

chl,ch2,ch3,ch4,ch5,x1,x2,ynewl,ynew2,ynew3,ynew4,
ynew5,yold1,yold2,yold3,yold4,yold5,xa,SaveData;

int Grafu;
CString A,B,C;

char dummy[256];
FILE *fp;

int SamplingPeriod=0;
int SamplingFreg=0;
#endif

HHHTTHTH T T T T
1
CAboutDlg

class CAboutDIg : public CDialog

{
public:
CAboutDIg();

1

IK{AFX_DATA(CAboutDIg)
enum { IDD = IDD_ABOUTBOX };
IMAFX_DATA

/I ClassWizard

I{AFX_VIRTUAL(CAboutDIg)

protected:

virtual
DoDataExchange(CDataExchange* pDX);
DDX/DDV

IIMAFX_VIRTUAL

I

protected:
I{AFX_MSG(CAboutDIg)
IMAFX_MSG
DECLARE_MESSAGE_MAP()
h
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void
/

CAboutDIg::CAboutDIg() : CDialog(CAboutDlg::1DD)

{
IK{AFX_DATA_INIT(CAboutDIg)
IMAFX_DATA_INIT

void CAboutDlg::DoDataExchange(CDataExchange*

pDX)

{
CDialog::DoDataExchange(pDX);
I{AFX_DATA_MAP(CAboutDlIg)
IIMAFX_DATA_MAP

}

BEGIN_MESSAGE_MAP(CAboutDIg, CDialog)

I{AFX_MSG_MAP(CAboutDIg)
I

IAFX_MSG_MAP



END_MESSAGE_MAP()

HHHHTHTT T T
/I CMyDlg

CMyDIg::CMyDIg(CWnd* pParent /*=NULL*/)
: CDialog(CMyDlg::IDD, pParent)

I{AFX_DATA_INIT(CMyDlIg)
m_message = _T("");
m_elch =_T(™);
m_e2ch = _T(");
m_e3ch = _T(");
m_edch = _T(");
m_e5ch = _T(");
m_chl = FALSE;
m_ch10 = FALSE;
m_chl1l = FALSE;
m_ch12 = FALSE;
m_ch13 = FALSE;
m_ch14 = FALSE;
m_ch2 = FALSE;
m_ch3 = FALSE;
m_ch4 = FALSE;
m_ch5 = FALSE;
m_ch6 = FALSE;
m_ch7 = FALSE;
m_ch8 = FALSE;
m_ch9 = FALSE;
IIAFX_DATA_INIT
1 : Loadlcon Win32
Destroylcon

m_hlcon =
AfxGetApp()->Loadlcon(IDR_MAINFRAME);
}

void CMyDlg::DoDataExchange(CDataExchange*

pDX)

{
CDialog::DoDataExchange(pDX);
I{AFX_DATA_MAP(CMyDIg)
DDX_Control(pDX, IDC_PICT, m_pict);
DDX_Control(pDX, IDC_PICTS5, m_5ch);
DDX_Control(pDX, IDC_PICT4, m_4ch);
DDX_Control(pDX, IDC_PICT3, m_3ch);

e

DDX_Control(pDX, IDC_PICT2, m_2ch);
DDX_Control(pDX, IDC_PICT1, m_1ch);

DDX_Control(pDX, IDC_SAMPLING,
m_sampling);

DDX_Control(pDX, IDC_SMPNUM,
m_smpnum);

DDX_Control(pDX, IDC_SMPFREQ,

m_smpfreq);
DDX_Control(pDX, IDC_STOP, m_stop);
DDX_Control(pDX, IDC_START, m_start);
DDX_Control(pDX, IDC_SET, m_set);
DDX_Control(pDX, IDC_ADCLOSE,
m_adclose);
DDX_Control(pDX, IDC_ADOPEN,
m_adopen);
DDX_Text(pDX, IDC_EDIT_MESSAGE,
m_message);
DDX_Text(pDX, IDC_CH1, m_elch);
DDX_Text(pDX, IDC_CH2, m_e2ch);
DDX_Text(pDX, IDC_CH3, m_e3ch);
DDX_Text(pDX, IDC_CH4, m_e4ch);
DDX_Text(pDX, IDC_CHS5, m_e5ch);
DDX_Check(pDX, IDC_CHECK1, m_chl);
DDX_Check(pDX, IDC_CHECKA10,
m_ch10);
DDX_Check(pDX, IDC_CHECK11,
m_ch11);
DDX_Check(pDX, IDC_CHECK12,
m_ch12);
DDX_Check(pDX, IDC_CHECK13,
m_ch13);
DDX_Check(pDX, IDC_CHECK14,
m_ch14);
DDX_Check(pDX, IDC_CHECK2, m_ch2);
DDX_Check(pDX, IDC_CHECK3, m_ch3);
DDX_Check(pDX, IDC_CHECK4, m_ch4);
DDX_Check(pDX, IDC_CHECKS5, m_ch5);
DDX_Check(pDX, IDC_CHECKS6, m_ché);
DDX_Check(pDX, IDC_CHECK?, m_ch7);
DDX_Check(pDX, IDC_CHECKS8, m_ch8);
DDX_Check(pDX, IDC_CHECK9, m_ch9);

IMAFX_DATA_MAP

BEGIN_MESSAGE_MAP(CMyDlIg, CDialog)



I{AFX_MSG_MAP(CMyDlIg)

ON_WM_SYSCOMMAND()

ON_WM_PAINT()

ON_WM_QUERYDRAGICON()

ON_BN_CLICKED(IDC_ADOPEN,
OnAdopen)

ON_BN_CLICKED(IDC_ADCLOSE,
OnAdclose)

ON_BN_CLICKED(IDC_START, OnStart)

ON_BN_CLICKED(IDC_SET, OnSet)

ON_BN_CLICKED(IDC_RADIO1,
OnRadiol)

ON_BN_CLICKED(IDC_RADIO2,
OnRadio2)

ON_WM _ TIMER()

ON_BN_CLICKED(IDC_STOP, OnStop)

ON_BN_CLICKED(IDC_SERVERCON,
OnServercon)

ON_BN_CLICKED(IDC_CHECK1,
OnCheck1)

ON_BN_CLICKED(IDC_CHECK2,
OnCheck?2)

ON_BN_CLICKED(IDC_CHECKS3,
OnCheck3)

ON_BN_CLICKED(IDC_CHECKA4,
OnCheck4)

ON_BN_CLICKED(IDC_CHECKS5,
OnCheck5)

ON_BN_CLICKED(IDC_CHECKS,
OnCheck®6)

ON_BN_CLICKED(IDC_CHECK?,
OnCheck?)

ON_BN_CLICKED(IDC_CHECKS,
OnCheck8)

ON_BN_CLICKED(IDC_CHECKO,
OnCheck9)

ON_BN_CLICKED(IDC_CHECK10,
OnCheck10)

ON_BN_CLICKED(IDC_CHECK11,
OnCheck11)

ON_BN_CLICKED(IDC_CHECK12,
OnCheck12)

ON_BN_CLICKED(IDC_CHECK13,
OnCheck13)

ON_BN_CLICKED(IDC_CHECK14,

78

OnCheck14)
IMAFX_MSG_MAP
END_MESSAGE_MAP()

T
/ CMyDlIg

BOOL CMyDlg::OnlnitDialog()

{
CDialog::OnlInitDialog();

n

/I IDM_ABOUTBOX

ASSERT((IDM_ABOUTBOX & OxFFFO0)
== IDM_ABOUTBOX);
ASSERT(IDM_ABOUTBOX < 0xF000);

CMenu*

GetSystemMenu(FALSE);
if (pSysMenu != NULL)
{

pSysMenu =

CString strAboutMenu;

strAboutMenu.LoadString(IDS_ABOUTB
OX);
if (IstrAboutMenu.IsEmpty())
{

pSysMenu->AppendMenu(MF_SEPARATO
R);

pSysMenu->AppendMenu(MF_STRING,

IDM_ABOUTBOX, strAboutMenu);

}

I

I

Setlcon(m_hlcon, TRUE);
I



Setlcon(m_hlcon, FALSE);
Vi

/l TODO:
m_adclose.EnableWindow(FALSE);
m_adopen.EnableWindow(TRUE);

m_start.EnableWindow(FALSE);
m_stop.EnableWindow(FALSE);

return TRUE; // TRUE

void CMyDIg::0nSysCommand(UINT nID, LPARAM

IParam)
{
if (nID & OxFFFO) == IDM_ABOUTBOX)
{
CAboutDlg digAbout;
dlgAbout.DoModal();
}
else
{
CDialog::0OnSysCommand(niID,
IParam);
}
}
1
I MFC

document/view
I

void CMyDIg::OnPaint()
{
if (Islconic())

{
CPaintDC dc(this); //
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SendMessage(WM_ICONERASEBKGND,
(WPARAM) dc.GetSafeHdc(), 0);

i

int cxlcon =
GetSystemMetrics(SM_CXICON);

int cylcon =
GetSystemMetrics(SM_CYICON);

CRect rect;

GetClientRect(&rect);

int x = (rect. Width() -cxlcon +

1) /2
inty = (rect.Height() - cylcon +
1)/2
I
dc.Drawlcon(x, y, m_hlcon);
}
else
{
CDialog::OnPaint();
}
}

I

I
HCURSOR CMyDlIg::0OnQueryDraglcon()

{
return (HCURSOR) m_hlcon;

void CMyDIg::OnAdopen()
{
/l TODO:

m_adclose.EnableWindow(TRUE);
m_adopen.EnableWindow(FALSE);
m_message="AD "
hDeviceHandle = AdOpen("FBIAD1");
if (hDeviceHandle =
INVALID_HANDLE_VALUE)Y

MessageBox("Device FBIAD1



exit(0);
}
AdGetSamplingConfig(hDeviceHandle,&S
mplConfig);
SmplConfig.ulSmpINum = SamplingNum;
SmplConfig.ulChCount =5;
SmplConfig.ulSamplingMode =
AD_10_SAMPLING;
SmplConfig.ulSingleDiff =
AD_INPUT_SINGLE;
SmplConfig.fSmplFreg= SamplingFreq;
SmplConfig.SmpIChReq[0].ulChNo = 1,
SmplConfig.SmplChReq[0].ulRange = AD_5V;
SmplConfig.SmplChReq[1].ulChNo = 2;
SmplConfig.SmplChReq[1].ulRange = AD_5V;
SmplConfig.SmplChReq[2].ulChNo = 3;
SmplConfig.SmplChReq[2].ulRange = AD_5V;
SmplConfig.SmpIChReq[3].ulChNo = 4;
SmplConfig.SmplChReq[3].ulRange = AD_5V;
SmplConfig.SmplChReq[4].ulChNo = 5;
SmplConfig.SmplChReq[4].ulRange = AD_5V;

AdSetSamplingConfig(hDeviceHandle,&S
mplConfig);
UpdateData(false);

void CMyDIg::OnAdclose()

{
m_message="AD "
m_adclose.EnableWindow(FALSE);
m_adopen.EnableWindow(TRUE);
m_start.EnableWindow(FALSE);

m_stop.EnableWindow(FALSE);

m_set.EnableWindow(TRUE);
/l TODO:

AdClose(hDeviceHandle);
UpdateData(false);

void CMyDlIg::OnStart()

{
/1 TODO:
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m_message="
m_start.EnableWindow(FALSE);
m_stop.EnableWindow(TRUE);
m_smpfreq.GetWindowText(B);
SamplingFreq=atoi(B);

m_smpnum.GetWindowText(C);

SamplingNum=atoi(C);
if(Grafu==1){

SetTimer(1,45,NULL);

/I1CH
CBrush newBrush;
CDC* pDC=m_1ch.GetDC();
newBrush.CreateSolidBrush(RGB(255,0,0));
pD C ->SelectObject(&newBrush);
pDC ->Rectangle(0,0,10,10);
/I2CH

CDC* pDC2=m_2ch.GetDC();

CBrush newBrush?;
newBrush2.CreateSolidBrush(RGB(0,0,255));
pDC2->SelectObject(&newBrush2);
pDC2->Rectangle(0,0,10,10);

/I3CH

CDC* pDC3=m_3ch.GetDC();

CBrush newBrush3;
newBrush3.CreateSolidBrush(RGB(0,255,0));
pD C3->SelectObject(&newBrush3);
pDC3->Rectangle(0,0,10,10);

/1ACH

CDC* pDC4=m_4ch.GetDC();

CBrush newBrush4;
newBrush4.CreateSolidBrush(RGB(0,255,255));
p D C4->SelectObject(&newBrush4);
pDC4->Rectangle(0,0,10,10);

/I5CH

CDC* pDC5=m_5ch.GetDC();

CBrush newBrushb5;
newBrush5.CreateSolidBrush(RGB(255,0,255));
pDC5->SelectObject(&newBrushb);
pDC5->Rectangle(0,0,10,10);

I

CDC*pDC6=m_pict.GetDC();

pDC6->MoveTo(0,200);
pDC6->LineTo(410,200);
pDC6->MoveTo(10,0);



pDC6->LineTo(10,310);
}
if(SaveData==1){
AdStartSampling(hDeviceHandle,
FLAG_SYNC);
ulSmpINum=SamplingNum;
AdGetSamplingData(hDeviceHandle,
&wSmpData[0][0], &ulSmpINum);
fp = fopen("SampleData.txt","w+");
if(fp==NULL){
fprintf(stderr,"¥n ¥t Cannot
Open SampleData.txt¥n¥t");
}

for (i=0; i<SamplingNum; i++)

fprintf(fp,"%.2f %f %f
%f %f %f
¥n",i*1/SmplConfig.fSmplFreq,30.0*(wSmpData[i][0] -
32768.0)/6553.6/*(10.0*wSmpDatali][0]/65536-5.0)*0.9
*
(10.0*wSmpData[i][1]/65536-5.0)*0.9,(10.0
*wSmpData[i][2]/65536-5.0)*0.9,(10.0*wSmpData[i][3
1/65536-5.0)*0.9,(10.0*wSmpData[i][4]/65536-5.0)*0.9)

1

fclose(fp);

m_message=" ;
AdStopSampling(hDeviceHandle);

UpdateData(false);

void CMyDIg::OnSet()

{
/ TODO:

m_start.EnableWindow(TRUE);
m_sampling.GetWindowText(A);
SamplingPeriod=atoi(A);
m_smpfreq.GetWindowText(B);
SamplingFreqg=atoi(B);

SamplingNum=SamplingPeriod*60*SamplingFreq;
char dsp[100];
sprintf(dsp,"%d",SamplingNum);

m_smpnum.SetWindowText(dsp);

void CMyDIg::OnRadiol()

{
/l TODO:
m_sampling.EnableWindow(TRUE);
m_smpnum.EnableWindow(TRUE);
SaveData=1,
Grafu=0;

}

void CMyDIg::OnRadio2()

{
/1 TODO:

m_sampling.EnableWindow(FALSE);
m_smpnum.EnableWindow(FALSE);
SaveData=0;
Grafu=1;

void CMyDIg::OnTimer(UINT nIDEvent)

{
// TODO:

AdStartSampling(hDeviceHandle,
FLAG_ASYNC);
ulSmpINum=1000;
AdGetSamplingData(hDeviceHandle,
&wSmpData[0][0], &ulSmpINum);
sprintf(dummy,
"%6f",(10.0*wSmpData[0][0]/65536-5.0)/2.0);
m_elch=du mmy;
sprintf(dummy,
"%f",(10.0*wSmpData[1][0]/65536-5.0)/2.0);
m_e2ch=dummy;
sprintf(dummy,
"%f",(10.0*wSmpData[2][0]/65536-5.0)/2.0);
m_e3ch=dummy;

sprintf(dummy,
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"%f",(10.0*wSmpData[3][0]/65536-5.0)/2.0);
m_e4ch=dummy;
sprintf(dummy,
"%f",(10.0*wSmpData[4][0]/65536-5.0)/2.0);
m_e5ch=dummy;
1
chl=atoi(m_elch)*100.0;
ch2=atoi(m_e2ch)*100.0;
ch3=atoi(m_e3ch)*100.0;
ch4=atoi(m_e4ch)*100.0;
ch5=atoi(m_e5ch)*100.0;
x1=x1+1;
x2=x1,
ynew1=((ch1/4)-200)*-1;
ynew2=((ch2/4)-200)*1;
ynew3=((ch3/4)-200)*-1,
ynew4=((ch4/4)-200)*-1,;
ynew5=((ch5/4)-200)*-1,
CDC* pDC=m_pict.GetDC();
CPen
BluePen,RedPen,GreenPen,BrackPen,CianPen,Mazen

daPen;

RedPen.CreatePen(PS_SOLID,1,RGB(255,0,0));
p D C ->SelectObject(&RedPen);
pDC ->MoveTo(xa,yold1);
pDC ->LineTo(x2,ynewl);
yoldl=ynewl;

BluePen.CreatePen(PS_SOLID,1,RGB(0,0,255));
p D C ->SelectObject(&BluePen);
pDC ->MoveTo(xa,yold2);
pDC ->LineTo(x2,ynew?2);
yold2=ynew2;

GreenPen.CreatePen(PS_SOLID,1,RGB(0,255,0));
p D C ->SelectObject(&GreenPen);
pD C ->MoveTo(xa,yold3);
pDC ->LineTo(x2,ynew3);
yold3=ynews3;

CianPen.CreatePen(PS_SOLID,1,RGB(0,255,255));
p D C ->SelectObject(&CianPen);
pDC ->MoveTo(xa,yold4);
pDC ->LineTo(x2,ynew4);
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yold4=ynew4;

MazendaPen.CreatePen(PS_SOLID,1,RGB(255,0,255)
)i
p D C ->SelectObject(&MazendaPen);
p D C ->MoveTo(xa,yold5);
pDC ->LineTo(x2,ynew5);
yold5=ynews5;
Xa=X2;
if(x1>410){
CDC*pDC=m_pict.GetDC();
CRect myRECT;
m_pict.GetClientRect(myRECT);

pDC->FillSolidRect(myRECT,RGB(255,255,255));

pDC->SelectObject(&BrackPen);

pDC->MoveTo(0,200);
pDC ->LineTo(410,200);
p D C ->MoveTo(10,0);
pDC ->LineTo(10,310);
x1=9;
xa=10;
yold1=200;yo0ld2=200;
yold3=200;yold4=200;yold5=200;
}
UpdateData(false);
CDialog::OnTimer(nIDEvent);

void CMyDlIg::0OnStop()
{
/l TODO:

m_message=" "
KillTimer(1);
m_stop.EnableWindow(FALSE);
m_start.EnableWindow(TRUE);
UpdateData(false);

void CMyDIg::OnServercon()

{
I /I TODO:



false) {

failed");

sock = new CComm;
if (sock->Initialize("210.163.149.97")

sock->~CComm();

AfxMessageBox("socket connect

bl

void CMyDIg::OnCheck1()

{
/*

/I TODO:

if(m_Chl == TRUE){
m_Ch1 = FALSE;
sData.fv[0] = double(0);
m_message =" "
}
else if (m_Ch1 == FALSE){
m_Ch1l = TRUE;
sData.fv[0] = double(1);

m_message =" ;

}

sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "g"); */

void CMyDIg::OnCheck2()

{

/*

/l TODO:

if(m_Ch2 == TRUE){
m_Ch2 = FALSE;
sData.fv[0] = double(0);
m_message =" "
}
else if (m_Ch2 == FALSE){
m_Ch2 = TRUE;
sData.fv[0] = double(1);

m_message =" "

sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "h"); */

void CMyDIg::OnCheck3()

{
/I TODO:

1* if(m_Ch3 == TRUE){

m_Ch3 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch3 == FALSE){
m_Ch3 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "i"); */

void CMyDIg::OnCheck4()

{
/I TODO:

* if(m_Ch4 == TRUE)
m_Ch4 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch4 == FALSE){
m_Ch4 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "j"); */
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void CMyDlIg::OnCheck5()

{
/ TODO:

/* if(m_Ch5 == TRUE){
m_Ch5 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch5 == FALSE){
m_Ch5 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);

UpdateData(false);
sprintf(sData.command, "K"); */

void CMyDlIg::OnCheck6()

{
/1 TODO:

* if(m_Ch6 == TRUE){
m_Ch6 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch6 == FALSE){
m_Ch6 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "I"); */

void CMyDIg::0OnCheck7()

{
/I TODO:

I if(m_Ch7 == TRUE){
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m_Ch7 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC ;
}
else if (m_Ch7 == FALSE){
m_Ch7 = TRUE;
sData.fv[0] = double(1);

m_message ="ATC "

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "m"); */

void CMyDIg::OnCheck8()

{

/*

// TODO:

if(m_Ch8 == TRUE)
m_Ch8 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC "
}
else if (m_Ch8 == FALSE){
m_Ch8 = TRUE;
sData.fv[0] = double(1);

m_message ="ATC "

}
sock->SockWrite(sData);

UpdateData(false);

sprintf(sData.command, "n"); */

void CMyDIg::OnCheck9()

{

/*

/I TODO:

if(m_ch9 == TRUE){
ch9 = FALSE;
sData.fv[0] = double(0);
m_message =" "
}
else if (ch9 == FALSE){



ch9 = TRUE;
sData.fv[0] = double(1);
m_message ="

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "a"); */

void CMyDIg::0OnCheck10()

{
/I TODO:

* if(m_ch10 == TRUEX
m_ch10 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_ch10 == FALSE){
m_ch10 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);

UpdateData(false);

sprintf(sData.command, "c"); */

void CMyDIg::OnCheck11()

{
/ TODO:

1* if(m_ch1l == TRUE)
m_ch1l = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_ch11 == FALSE){
m_chll = TRUE;
sData.fv[0] = double(1);

m_message ="

sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "b"); */

void CMyDIg::OnCheck12()

{
/I TODO:

* if(m_ch12 == TRUE)
m_ch12 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_ch12 == FALSE){
m_ch12 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "e"); */

void CMyDIg::OnCheck13()

{
/I TODO:

* if(m_ch13 == TRUEX
m_ch13 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_ch13 == FALSE){
m_ch13 = TRUE;
sData.fv[0] = double(1);

m_message ="ATC

}
sock->SockWrite(sData);
UpdateData(false);

sprintf(sData.command, "f*); */
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void CMyDIg::OnCheck14()

{
/ TODO:

1* if(m_ch14 == TRUE)
m_ch14 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_ch14 == FALSE){
m_ch14 = TRUE;
sData.fv[0] = double(1);

m_message ="ATC "

}
sock->SockWrite(sData);

UpdateData(false);

sprintf(sData.command, "d"); */

/I MCOperDlg.cpp :
i

#include "stdafx.h"
#include "MCOper.h"
#include "MCOperDlg.h"

#ifdef _DEBUG

#define new DEBUG_NEW

#undef THIS_FILE

static char THIS_FILE[] = _ FILE_;

int tu,xa,ya,yb,yc,y1,y2,y3,x1,xnew,xold,y4,ynew,yold;
int kakou,tikara,henkei,MappingModel;

#endif

#define READTIMER_ID 0
static S_DATA sData,rData;
static HANDLE g_hThread;
static CComm™* sock;

/Istatic void session();

/[static int counter;
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static double n;
static char dummy[256];

static bool StartFlag = false;

#include "pcpg46.h"
#include"windows.h"
#include"stdio.h"
#include"FbiAd.h"

#define AXIS_NUM 3

HANDLE hDeviceHandle;
ADSMPLCHREQ SmplChReq[3];
WORD wSmpData[3];

int adDataOrg[AXIS_NUM];
int adDataCal[AXIS_NUM];

double mstPerBit[AXIS_NUM];

double nonIntfMatrix[AXIS_NUM][AXIS_NUM];

double newtonPerMst[AXIS_NUM]J;

double

newtonPerMstMatrix[AXIS_NUMI][AXIS_NUM]; *

newtonPerMst * nonIntfMatrix */

double sensorNon[AXIS_NUM][AXIS_NUM]J;
/* newtonPerMstMatrix * newtonPerMst */

double meanForce[AXIS_NUM];

/lint counter;

static int joystickStart = 0;

static int m_handlemode =-1,

pcpg46 pepg;

TCHAR

szBuf[1024];

BYTE

bData[256];

WORD

wBsn, WAKXIs;
PCPG46RESOURCE ri;
BYTE

b;

DWORD

dwCount;



s
I
CAboutDlg

class CAboutDlg : public CDialog

{
public:
CAboutDIg();
1
I{AFX_DATA(CAboutDIg)
enum { IDD = IDD_ABOUTBOX };
IIAFX_DATA
/I ClassWizard
I{AFX_VIRTUAL(CAboutDIg)
protected:
virtual void
DoDataExchange(CDataExchange* pDX); I
DDX/DDV
IMAFX_VIRTUAL
1
protected:
I{{AFX_MSG(CAboutDlIg)
IIAFX_MSG
DECLARE_MESSAGE_MAP()
h

CAboutDIg::CAboutDIg() : CDialog(CAboutDIg::1DD)
{
I{AFX_DATA_INIT(CAboutDIg)
IIAFX_DATA_INIT

void CAboutDlg::DoDataExchange(CDataExchange*

pDX)

{
CDialog::DoDataExchange(pDX);
I{AFX_DATA_MAP(CAboutDIg)
IMAFX_DATA_MAP
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BEGIN_MESSAGE_MAP(CAboutDIg, CDialog)
I{AFX_MSG_MAP(CAboutDIg)
I

IMAFX_MSG_MAP
END_MESSAGE_MAP()

HHTTHIHTH T T
/I CMCOperDlg

CMCOperDlg::CMCOperDIg(CWnd*
*=NULL*/)
: CDialog(CMCOperDlg::1DD, pParent)

pParent

IK{AFX_DATA_INIT(CMCOperDIg)
m_relz = _T(");
m_absx = _T("™);
m_absy = _T(");
m_absz = _T(");
m_spindle = _T(");
m_feed = _T("™);
m_message = _T(™);
m_ncprog = _T("™);
NCNAME = _T("™);
m_macx = _T("™);
m_macy = _T("™);
m_macz = _T("");
m_relx = _T(");
m_remx = _T(");
m_remy = _T(");
m_feedover = 100;
m_spindleover = 100;
m_sm = 0;

m_fm =0;

m_tuyox = _T("),
m_tuyoy = _T(");

m_fx=_T(");
m_fy =_T(");
m_fz=_T(");
m_C1 = FALSE;



m_C2 = FALSE;
m_C3 = FALSE;
m_C4 = FALSE;
m_C5 = FALSE;
m_C6 = FALSE;
m_Ch1l = FALSE;
m_Ch2 = FALSE;
m_Ch3 = FALSE;
m_Ch4 = FALSE;
m_Ch5 = FALSE;
m_Ch6 = FALSE;
m_Ch7 = FALSE;
m_Ch8 = FALSE;
IMAFX_DATA_INIT
1 . Loadlcon

Destroylcon

Win32

m_hlcon =

AfxGetApp()->Loadlcon(IDR_MAINFRAME);
}

void
CMCOperDlg::DoDataExchange(CDataExchange*
pDX)
{
CDialog::DoDataExchange(pDX);
II{AFX_DATA_MAP(CMCOperDlIg)

m_pcpgadClose);
DDX_Control(pDX,

m_pcpgadlnit);
DDX_Control(pDX,

IDC_FORCEBUTTONZ1, m_foce);
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IDC_PCPGAD_INIT,

DDX_Control(pDX, IDC_NCSENDS,
m_xp);

DDX_Control(pDX, IDC_NCSEND4,
m_ym);

DDX_Control(pDX, IDC_NCSENDS,
m_yp);

DDX_Control(pDX, IDC_NCSENDS,
m_xm);

DDX_Control(pDX, IDC_NCSEND?7,
m_zm);

DDX_Control(pDX, IDC_NCSEND3,
m_zp);

DDX_Control(pDX, IDC_BUTTONZ2,
m_dncend);

DDX_Control(pDX, IDC_BUTTON1,

m_dncstart);
DDX_Control(pDX,

IDC_SCROLLBAR_SPINDLE, m_spindlescrol);

DDX_Control(pDX,

IDC_SCROLLBAR_FEED, m_feedscrol);

DDX_Control(pDX,

IDC_NCSEND,

DDX_Control(pDX, IDC_BUTTON?,
m_tikara);

DDX_Control(pDX, IDC_BUTTONS,
m_henkei);

DDX_Control(pDX, IDC_BUTTONS,
m_kakou);

DDX_Control(pDX, IDC_BUTTON4,
m_spinstart);

DDX_Control(pDX, IDC_BUTTONS,
m_spinstop);

DDX_Control(pDX, IDC_BUTTONS,

m_stop);
DDX_Control(pDX, IDC_PICT, m_pict);
DDX_Control(pDX, IDC_AXISX, m_axisx);
DDX_Control(pDX, IDC_JOYSTICK_STOP,
m_joystickStop);
DDX_Control(pDX,
IDC_JOYSTICK_START, m_joystickStart);
DDX_Control(pDX, IDC_PCPGAD_CLOSE,

m_ncsend);
DDX_Control(pDX,
m_hssbo pen);
DDX_Control(pDX,
m_hssbcolse);
DDX_Control(pDX,
m_feedhold);
DDX_Control(pDX,
m_emegstop);
DDX_Control(pDX,
m_ciclestart);
DDX_Text(pDX, IDC_RELY, m_rely);
DDX_Text(pDX, IDC_RELZ, m_relz);
DDX_Text(pDX, IDC_ABSX, m_absx);
DDX_Text(pDX, IDC_ABSY, m_absy);
DDX_Text(pDX, IDC_ABSZ, m_absz);
DDX_Text(pDX, IDC_EDIT_SPINDLE,
m_spindle);
DDX_Text(pDX,

IDC_HSSBOPEN,

IDC_HSSBCOLSE,

IDC_FEEDHOLD,

IDC_EMEGSTORP,

IDC_CICLESTART,

IDC_EDIT_FEED,



DDX_Text(pDX, IDC_EDIT_MESSA,

m_message);

DDX_Text(pDX, IDC_EDIT_NCPROG,

DDX_Text(pDX, IDC_NCNAME,

NCNAME);

DDX_Text(pDX, IDC_MACX, m_macx);
DDX_Text(pDX, IDC_MACY, m_macy);
DDX_Text(pDX, IDC_MACZ, m_macz);
DDX_Text(pDX, IDC_RELX, m_relx);
DDX_Text(pDX, IDC_REMX, m_remx);
DDX_Text(pDX, IDC_REMY, m_remy);
DDX_Text(pDX, IDC_REMZ, m_remz);
DDX_Scroll(pDX,

IDC_SCROLLBAR_FEED, m_feedover);

DDX_Scroll(pDX,

IDC_SCROLLBAR_SPINDLE, m_spindleover);

DDX_Text(pDX, IDC_EDIT1, m_sm);
DDX_Text(pDX, IDC_EDIT2, m_fm);
DDX_Text(pDX, IDC_tuyoX, m_tuyox);
DDX_Text(pDX, IDC_tuyoY, m_tuyoy);
DDX_Text(pDX, IDC_tuyoZ, m_tuyoz);
DDX_Text(pDX, IDC_FORCEX, m_fx);
DDX_Text(pDX, IDC_FORCEY, m_fy);
DDX_Text(pDX, IDC_FORCEZ, m_fz);
DDX_Check(pDX, IDC_CHECK10, m_C1);
DDX_Check(pDX, IDC_CHECKZ11, m_C2);
DDX_Check(pDX, IDC_CHECK12, m_C3);
DDX_Check(pDX, IDC_CHECKZ13, m_C4);
DDX_Check(pDX, IDC_CHECK14, m_C5);
DDX_Check(pDX, IDC_CHECKZ15, m_C6);
DDX_Check(pDX, IDC_CHECK1, m_Ch1);
DDX_Check(pDX, IDC_CHECK2, m_Ch2);
DDX_Check(pDX, IDC_CHECK3, m_Ch3);
DDX_Check(pDX, IDC_CHECK4, m_Ch4);
DDX_Check(pDX, IDC_CHECKS5, m_Ch5);
DDX_Check(pDX, IDC_CHECKS, m_Ché);
DDX_Check(pDX, IDC_CHECK?7, m_Ch7);
DDX_Check(pDX, IDC_CHECKS, m_Ch8);
IMAFX_DATA_MAP

BEGIN_MESSAGE_MAP(CMCOperDlg, CDialog)

I{AFX_MSG_MAP(CMCOperDIg)

ON_WM_SYSCOMMAND()

ON_WM_PAINT()

ON_WM_QUERYDRAGICON()

ON_BN_CLICKED(IDC_HSSBOPEN,
OnHssbopen)

ON_BN_CLICKED(IDC_NCSELECT,
OnNcselect)

ON_BN_CLICKED(IDC_NCSEND,
OnNcsend)

ON_BN_CLICKED(IDC_CICLESTART,
OnCiclestart)

ON_BN_CLICKED(IDC_FEEDHOLD,
OnFeedhold)

ON_BN_CLICKED(IDC_EMEGSTOP,
OnEmegstop)

ON_BN_CLICKED(IDC_HSSBCOLSE,
OnHssbcolse)

ON_WM_TIMER()

ON_WM_HSCROLL()

ON_BN_CLICKED(IDC_EXIT, OnExit)

ON_BN_CLICKED(IDC_NCSENDS,
OnNcsend8)

ON_BN_CLICKED(IDC_NCSEND4,
OnNcsend4)

ON_BN_CLICKED(IDC_NCSENDS5,
OnNcsend5)

ON_BN_CLICKED(IDC_NCSENDS,
OnNcsend6)

ON_BN_CLICKED(IDC_NCSEND3,
OnNcsend3)

ON_BN_CLICKED(IDC_NCSEND?7,
OnNcsend?7)

ON_BN_CLICKED(IDC_RADIO1,
OnRadiol)

ON_BN_CLICKED(IDC_RADIO2,
OnRadio2)

ON_BN_CLICKED(IDC_RADIO3,
OnRadio3)

ON_BN_CLICKED(IDC_BUTTONL1,
OnButton1)

ON_BN_CLICKED(IDC_BUTTONZ2,
OnButton?2)

ON_EN_CHANGE(IDC_EDIT1,
OnChangeEditl)

ON_EN_CHANGE(IDC_EDIT2,
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OnChangeEdit2)
ON_BN_CLICKED(IDC_FORCEBUTTON
1, OnForcebuttonl)
ON_BN_CLICKED(IDC_PCPGAD_INIT,
OnPcpgadlnit)
ON_BN_CLICKED(IDC_PCPGAD_CLOS
E, OnPcpgadClose)
ON_BN_CLICKED(IDC JOYSTICK_STO
P, OnJoystickStop)
ON_BN_CLICKED(IDC_JOYSTICK_STA
RT, OnJoystickStart)
ON_BN_CLICKED(IDC_HANDLEMODE,
OnHandlemode)
ON_BN_CLICKED(IDC_BUTTONS3,
OnButton3)
ON_BN_CLICKED(IDC_JOYSTICKMOD
E, OnJoystickmode )
ON_BN_CLICKED(IDC_BUTTONS,
OnSPINDLESTOP)
ON_BN_CLICKED(IDC_BUTTON4,
OnSindleStart)
ON_BN_CLICKED(IDC_CHECK10,

onC1)

ON_BN_CLICKED(IDC_CHECK11,
onc2)

ON_BN_CLICKED(IDC_CHECK12,
OnC3)

ON_BN_CLICKED(IDC_CHECK13,
OonC4)

ON_BN_CLICKED(IDC_CHECK14,
OnC5)

ON_BN_CLICKED(IDC_CHECK15,
oncCe)

ON_BN_CLICKED(IDC_CHECK1,
onCh1)

ON_BN_CLICKED(IDC_CHECK2,
onCh2)

ON_BN_CLICKED(IDC_CHECKS3,
onCh3)

ON_BN_CLICKED(IDC_CHECK4,
onCh4)

ON_BN_CLICKED(IDC_CHECKS5,
OnChb)

ON_BN_CLICKED(IDC_CHECKS®,
onché)
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ON_BN_CLICKED(IDC_CHECK?7,

onCh7)

ON_BN_CLICKED(IDC_CHECKS,
onChs)

ON_BN_CLICKED(IDC_BUTTONS,
Onkakou)

ON_BN_CLICKED(IDC_BUTTONS,
Onhenkei)

ON_BN_CLICKED(IDC_BUTTON?,
Ontikara)

IMAFX_MSG_MAP
END_MESSAGE_MAP()

T
/Il CMCOperDlg

BOOL CMCOperDIg::OnlinitDialog()

{
CDialog::OnlnitDialog();

n

/I IDM_ABOUTBOX

ASSERT((IDM_ABOUTBOX & OxFFFO0)
== IDM_ABOUTBOX);
ASSERT(IDM_ABOUTBOX < 0xF000);

CMenu*

GetSystemMenu(FALSE);
if (pSysMenu != NULL)
{

pSysMenu =

CString strAboutMenu;

strAboutMenu.LoadString(IDS_ABOUTB
OX);
if (IstrAboutMenu.IsEmpty())
{

pSysMenu->AppendMenu(MF_SEPARATO
R);

pSysMenu->AppendMenu(MF_STRING,
IDM_ABOUTBOX, strAboutMenu);



1

1

Setlcon(m_hlcon, TRUE);

Vi
Setlcon(m_hlcon, FALSE);
i

/I TODO:

m_hsfeedover =
(CScrollBar* )GetDIgltem(IDC_SCROLLBAR_FEED);

m_hsfeedover ->SetScrollRange(20,200);

m_hsfeedover ->SetScrollPos(100);

m_hsspindleover =
(CScrollBar* )GetDIgltem(IDC_SCROLLBAR_SPIND
LE);

m_hsspindleover
->SetScrollRange(20,200);

m_hsspindleover ->SetScrollPos(100);

m_hssbopen.EnableWindow (TRUE);
m_hssbcolse.EnableWindow(FALSE);
m_ciclestart.EnableWindow(FALSE);
m_feedhold.EnableWindow(FALSE);
m_ciclestart.EnableWindow(FALSE);
m_ncsend.EnableWindow(FALSE);
m_feedscrol.EnableWindow(FALSE);
m_spindlescrol.EnableWindow(FALSE);
m_emegstop.EnableWindow(FALSE);
m_dncstart.EnableWindow(FALSE);
m_dncend.EnableWindow(FALSE);
m_foce.EnableWindow(FALSE);
m_stop.EnableWindow(FALSE);
m_xp.EnableWindow(FALSE);
m_yp.EnableWindow(FALSE);
m_zp.EnableWindow(FALSE);
m_xm.EnableWindow(FALSE);
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m_ym.EnableWindow(FALSE);
m_zm.EnableWindow(FALSE);
m_kakou.EnableWindow(FALSE);
m_henkei.EnableWindow(FALSE);
m_tikara.EnableWindow(FALSE);
m_pcpgadinit.EnableWindow(FALSE);
m_pcpgadClose.EnableWindow(FALSE);
m_joystickStart.EnableWindow(FALSE);
m_joystickStop.EnableWindow(FALSE);
m_spinstart.EnableWindow(FALSE);
m_spinstop.EnableWindow(FALSE);

return TRUE; // TRUE

void  CMCOperDIg::OnSysCommand(UINT  nID,
LPARAM IParam)

{
if (NID & OXFFFO) == IDM_ABOUTBOX)
{
CAboutDlg dlgAbout;
dlgAbout.DoModal();
}
else
{
CDialog::0OnSysCommand(nID,
IParam);
}
}
1
1 MFC

document/view
1

void CMCOperDlg::OnPaint()
{
if (Islconic())

{
CPaintDC dc(this); //



SendMessage(WM_ICONERASEBKGND,
(WPARAM) dc.GetSafeHdc(), 0);

1

int cxlcon =

GetSystemMetrics(SM_CXICON);

int cylcon =

GetSystemMetrics(SM_CYICON);
CRect rect;
GetClientRect(&rect);
int x = (rect. Width() - cxlcon +

1)/2;
inty = (rect.Height() - cylcon +
1)/2;
I
dc.Drawlcon(x, y, m_hlcon);
}
else
{
CDialog::OnPaint();
}
}

1

1
HCURSOR CMCOperDlg::OnQueryDraglcon()

{
return (HCURSOR) m_hlcon;

volatile unsigned int counter ;

int pos_x=0;

static HANDLE hThread = NULL ;
static DWORD threadID =0 ;

*

void countThread( void )

{
char pos[20];
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counter =1 ;

while( counter ) {

/Im_relz=pos;
sprintf(pos,"%5.3f", (double)counter++);
/I m_absx=pos;

/I m_relx=pos;
/I dlg.UpdateData(false);

11 SetDlIgltemInt(NULL,IDC_RELX,
int(8),FALSE);
1 CwWnd * pEd = (CWnd %)

GetDIgltem(IDC_EDIT_MESSA);
I
SetDIgltemInt(NULL,IDC_RELX,

counter++,FALSE);

1 SetDIgltemint(

IDD_COUNT, counter++, FALSE ) ;

/I New function added by me
if((counter%2100)==0)

Beep(400,200);
Sleep(100) ;

ghwnd,

}
ExitThread(0);

}
*/

void CMCOperDlIg::OnHssbopen()

{

/I TODO:

/*
if( hThread == NULL) {
threadlD =0 ;
/I create

a thread

hThread = CreateThread( 0, O,

(LPTHREAD_START_ROUTINE)countTh
read,

0, 0, &threadID) ;
}

DWORD threadlD;



*/
sock = new CComm;
if (sock->Initialize("210.163.149.97") =
false) {
sock->~CComm();
AfxMessageBox("socket connect
failed");
}
/I timer

SetTimer(READTIMER_ID,10,NULL);

m_hssbopen.EnableWindow(FALSE);
m_hssbcolse.EnableWindow(TRUE);
m_feedhold.EnableWindow(TRUE);
m_ciclestart.EnableWindow(TRUE);
m_feedscrol.EnableWindow(TRUE);
m_spindlescrol.EnableWindow(TRUE);
m_emegstop.EnableWindow(TRUE);
m_dncstart.EnableWindow(TRUE);

m_kakou.EnableWindow(TRUE);
m_henkei.EnableWindow(TRUE);

m_tikara.EnableWindow(TRUE);

m_message += "Connection
Established. ¥r¥n";
UpdateData(false);
}
void CMCOperDlIg::OnNcselect()
{
/| TODO:
char buf[256];
int len,line_num=0;
CFileDialog FileDLG(
true, 1
]
"out”, 1

"*out", /I
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OFN_FILEMUSTEXIST |

OFN_HIDEREADONLY, i
"NC (*.out) | *.out]
Gl WA I U
)i

I/l 1
FileDLG.m_ofn.IpstrinitialDir =
"D:¥¥ljg¥¥teleokk ¥*¥¢MCOper";

if(FileDLG.DoModal()==1DOK){
CsStdioFile
fin(FileDLG.GetPathName(),CFile::modeRead);

m_ncprog.Empty();

while(fin.ReadString(buf,255)!=NULL){
len = strlen(buf);
buf[len-1] = "¥0';
m_ncprog += buf;
m_ncprog +=
"¥r¥n",
line_num-++;
}
NCNAME=
FileDLG.GetFileName();
}
m_ncsend.EnableWindow(TRUE);
UpdateData(false);

void CMCOperDlIg::OnNcsend()

{
/I TODO:

char buf[255];
int len, line_num;

/lint Datlen, ProgNumOrg;

/ TODO:

m_message ="NC Program Send.";

UpdateData(false);



sprintf(sData.command, "NC program
send %d", counter);
sData.fv[0] = double(counter);
sData.fv[1] = double(counter+1);
sData.fv[2] = double(counter+2);

sock->SockWrite(sData);

/I NC MC
intj=0;

CstdioFile
fin(NCNAME,CFile::modeRead | CFile::typeText);
m_ncprog.Empty();

while(fin.ReadString( buf,255)!=NULL)
len = strlen(buf);
strcpy(sData.command, buf);
bufflen-1] = "¥0";

m_ncprog += buf;

m_ncprog +=
"¥r¥n",
line_num-++;
if(sData.command[0] =='0") {
inti,num;
char
NCNum[256];
for (i=0;
i<len-2;i++){
NCNuml[i] =
buf[i+1];
}
num =

atoi(NCNum);
sData.fv[0] = double(num);
sprintf(NCNum, " NC prog num %d

" num);

m_message = NCNum;
UpdateData(false);
else{
sData.fv[0] = double(counter);
sData.fv[1] = double(counter+1);

sData.fv[2] = double(counter+2);
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}
sock->SockWrite(sData);
UpdateData(false);

}
/IFile send over
buf[0] = '%";

strcpy(sData.command,buf);
sock->SockWrite(sData);

/I NC
m_message += "FileTrans Done.";
m_message += "¥r¥n";

UpdateData(false);

void CMCOperDlg::OnCiclestart()

{
/I TODO:

sprintf(sData.command, "Cycle start from

client %d", counter);

sData.fv[0] = double(counter);

sData.fv[1] = double(counter+1);

sData.fv[2] = double(counter+2);

sock->SockWrite(sData);

m_message ="CICLE START";

UpdateData(false);

void CMCOperDIg::OnFeedhold()

{
/I TODO:
sprintf(sData.command, "Holding Feed
from client . %d", counter);
sData.fv[0] = double(counter);
sData.fv[1] = double(counter+1);
sData.fv[2] = double(counter+2);
sock->SockWrite(sData);
m_message ="FEED HOLD";
UpdateData(false);

void CMCOperDlg::OnEmegstop()
{



/I TODO:

sprintf(sData.command, "Emg. stop from
client %d", counter);
sData.fv[0] = double(counter);
sData.fv[1] = double(counter+1);
sData.fv[2] = double(counter+2);
sock->SockWrite(sData);
KillTimer(READTIMER_ID);

m_hssbhopen.EnableWindow(TRUE);
m_hssbcolse.EnableWindow(FALSE);

m_ciclestart.EnableWindow(FALSE);
m_feedhold.EnableWindow(FALSE);
m_ciclestart.EnableWindow(FALSE);
m_ncsend.EnableWindow(FALSE);
m_feedscrol.EnableWindow(FALSE);
m_spindlescrol.EnableWindow(FALSE);
m_emegstop.EnableWindow(FALSE);

m_message ="EMEG. STOP";
UpdateData(false);

void CMCOperDlIg::OnHssbcolse()

{
/I TODO:
counter =0 ;
1* if( hThread =
NULL) {
/I wait

until the thread has finished

while( WaitForSingleObject(hThread, 0) ==
WAIT_TIMEOUT)
i
SetDlgltemText( hwnd, IDD_COUNT, "

1
SetDlgltemText( hwWnd, IDD_COUNT, "
")
hThread
= NULL ;
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*/

KillTimer(READTIMER_ID);
StartFlag = false;

m_hssbopen.EnableWindow(TRUE);
m_hssbcolse.EnableWindow(FALSE);
m_ciclestart.EnableWindow(FALSE);
m_feedhold.EnableWindow(FALSE);
m_ciclestart.EnableWindow(FALSE);
m_ncsend.EnableWindow(FALSE);
m_feedscrol.EnableWindow(FALSE);
m_spindlescrol.EnableWindow(FALSE);
m_emegstop.EnableWindow(FALSE);

m_message ="HSSB CLOSE",
UpdateData(false);

void CMCOperDIg::OnHScroll(UINT nSBCode, UINT
nPos, CScrollBar *pScrollBar)

{
int pos, X, Xxmin, xmax;
/Ichar text[20];
pScrollBar->GetScrollRange(&xmin,
&xmax);

pos = pScrollBar->GetScrollPos();

X = pos;
switch(nSBCode)
{
case SB_LINELEFT:
X-=2;
break;
case SB_LINERIGHT:
X+=2;
break;
case SB_PAGELEFT:
X-=10;
break;
case SB_PAGERIGHT:
x+=10;



break;
case SB_THUMBTRACK:
X=nPos;
break;
default:

return;
}
if(x<xmin) x=xmin;
else if(x>xmax) x=xmax;
if(x!=pos)
{
pScrollBar->SetScrollPos(x);

if(pScrollBar == m_hsfeedover){

1 sprintf(text,  "%d",
X);
m_feedover = x;
m_message ="FEED
OVERRIDE";

sprintf(sData.command, "Feed
override from client %d", x);
sData.fv[0] = double(x);

}
else if(pScrollBar
==m_hsspindleover){

/I sprintf(text, "%d", x);
m_spindleover = X;
m_message

="SPINDLE OVERRIDE";
sprintf(sData.command, "Spindle
override from client %d", x);
sData.fv[0] = double(x);
}
sData.fv[1] = double(counter+1);
sData.fv[2] = double(counter+2);
sock->SockWrite(sData);

UpdateData(false);

void CMCOperDlIg::OnTimer(UINT nIDEvent)
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// TODO:

int axis, index;

double force[AXIS_NUM];

if(nIDEvent == READTIMER_ID)
{
rData.command[0] = NULL;
sock->SockRead(&rData);
/I Get Relative axis position.
if (rData.command[0] =='R'J{
sprintf(dummy,"%.3f",rData.fv[0]);
m_relx = dummy;
sprintf(dummy,"%.3f",rData.fv[1]);
m_rely = dummy;
sprintf(dummy,"%.3f",rData.fv[2]);
m_relz = dummy;
lelse
/I Get machine axis position.
if (rData.command[0] =="M"){
sprintf(dummy,"%.3f",rData.fv[0]);
m_macx = dummy;
sprintf(dummy,"%.3f",rData.fv[1]);
m_macy = dummy;
sprintf(dummy,"%.3f",rData.fv[2]);
m_macz = dummy;
lelse
/I Get absolute axis position.
if (rData.command[0] =='A"}{
sprintf(dummy,"%.3f",rData.fv[0]);
m_absx = dummy;
sprintf(dummy,"%.3f",rData.fv[1]);
m_absy = dummy;
sprintf(dummy,"%.3f",rData.fv[2]);
m_absz = dummy;
lelse
/I Get remain moving distance
if (rData.command[0] =='N"{
sprintf(dummy,"%.3f",rData.fv[0]);
m_remx = dummy;
sprintf(dummy,"%.3f",rData.fv[1]);
m_remy = dummy;
sprintf(dummy,"%.3f",rData.fv[2]);



m_remz = dummy;

lelse
if (rData.command[0] =='S"){
/I Get feed rate and spindle
speed.

sprintf(dummy,"%.3f",rData.fv[0]);

m_feed = dummy;
sprintf(dummy,"%.3f",rData.fv[1]);

m_spindle = dummy;

lelse

(rData.command[0] =='K"){//
i
sprintf(dummy,"%.3f",rData.fv[0]);
m_tuyox = dummy;
sprintf(dummy,"%.3f",rData.fv[1]);

m_tuyoy = dummy;

sprintf(dummy,"%.3f",rData.fv[2]);
m_tuyoz = dummy;
}
if(joystickStart == 1){
AdInputAD(hDeviceHandle, 3,
AD_INPUT_SINGLE, &SmplChReq[0], &wSmpData);
for (axis = 0; axis < AXIS_NUM;

axis++)
force[axis] = 0.0;
for (axis = 0; axis < AXIS_NUM; axis++) {
for (index = 0; index <
AXIS_NUM; index++) {
force[axis] +=

sensorNon[axis][index]*((int)wSmpData[index]-adDat

aOrg[index]);

}
for (axis = 0; axis <
AXIS_NUM; axis++)
meanForce[axis]+=force[axis];
counter++;
if(counter == 5){
for (axis = 0; axis < AXIS_NUM;
axis++)
meanForce[axis] =
meanForce[axis]/10.0;

sprintf(dummy,
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"%If",;meanForce[0]);
m_fx=dummy;
sprintf(dummy,
"%If",;meanForce[1]);
m_fy=dummy;
sprintf(dummy,
"%If",;meanForce[2]);
m_fz=dummy;
UpdateData(false);
if (meanForce[0] >= 8.0){
if ( FALSE =
pcpg.Pcpgd6wDataFullWrite(
wBsn, WAXIS,
PCPG46_PLUS_PRESET_PULSE_DRIVE, 100) ) {

pcpg.ErrorMessage(wBsn);

return ;

CButton*
(CButton*)GetDIgltem(IDC_AXISX);

radiol =

CButton* radio2 =

(CButton*)GetDlIgltem(IDC_AXISY);

CButton*
(CButton*)GetDlIgltem(IDC_AXISZ);

radio3 =

if(radiol->GetCheck()){

sprintf(sData.command, "X%d", counter);

sData.fv[0] = double(1*n);
sData.fv[1] =
double(m_sm);
sData.fv[2] =

double(m_fm);

sock->SockWrite(sData);
sprintf(dummy,"S  %.0f rpm
F %.0f mm/min X %.3f
" sData.fv[1],sData.fv[2],sData.fv[0] );
m_message = dummy;
UpdateData(false);



if(radio2>GetCheck(){

sprintf(sData.command, "Y%d", counter);

sData.fv[0] = double(1*n);
sData.fv[1]

double(m_sm);
sData.fv[2]

double(m_fm);

sock->SockWrite(sData);

sprintf(dummy,"S %.0f rpm
F %.0f mm/min Y %.3f
" sData.fv[1],sData.fv[2],sData.fv[0] );

m_message = dummy;

UpdateData(false);

if(radio3>GetCheck()){

sprintf(sData.command, "Z%d", counter);

sData.fv[0] = double(1*n);
sData.fv[1] =
double(m_sm);
sData.fv[2] =

double(m_fm);

sock->SockWrite(sData);

sprintf(dummy,"S %.0f rpm
F %.0f mm/min Z %.3f
" sData.fv[1],sData.fv[2],sData.fv[0] );

m_message = dummy;

UpdateData(false);

}
telse
if (meanForce[0] <=-8.0
if ( FALSE =

pcpg.Pcpgd6wDataFullWrite(
wBsn, WwAXis,
PCPG46_MINUS_PRESET_PULSE_DRIVE, 100)){
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pcpg.ErrorMessage(wBsn);
return ;
}
CButton*
(CButton*)GetDlIgltem(IDC_AXISX);

radiol

CButton*
(CButton*)GetDIgltem(IDC_AXISY);

radio2 =

CButton* radio3 =

(CButton*)GetDlgltem(IDC_AXISZ);

if(radiol->GetCheck(){

sprintf(sData.command, "X%d", counter);

sData.fv[0] = double(-1*n);
sData.fv[1] =
double(m_sm);
sData.fv[2] =

double(m_fm);

sock->SockWrite(sData);

sprintf(dummy,"S %.0f rpm
F %.0f mm/min X %.3f
" sData.fv[1],sData.fv[2],sData.fv[0] );

m_message = dummy;

UpdateData(false);

if(radio2>GetCheck()){

sprintf(sData.command, "Y%d", counter);

sData.fv[0] = double(-1*n);
sData.fv[1] =
double(m_sm);
sData.fv[2] =

double(m_fm);

sock->SockWrite(sData);

sprintf(dummy,"S %.0f rpm
F %.0f mm/min Y %.3f
" sData.fv[1],sData.fv[2],sData.fv[0] );



m_message = dummy;

UpdateData(false);

if(radio3->GetCheck()){

sprintf(sData.command, "Z%d", counter);

sData.fv[0] = double(-1*n);
sData.fv[1]

double(m_sm);

sData.fv[2]

double(m_fm);

sock->SockWrite(sData);
sprintf(dummy,"S
F %.0f mm/min Z %.3f
" sData.fv[1],sData.fv[2],sData.fv[0] );
m_message = dummy;

%.0f  rpm

UpdateData(false);

counter = 0;
for (axis = 0; axis < AXIS_NU M;
axis++)
meanForce[axis] = 0.0;

}

1
if(kakou==1){

MappingModel=MM_HIMETRIC;
x1=atoi(m_macx);
yd=atoi(m_macy);

xnew=(x1-272)*10;
ynew=(y4+347)*-1*10;

CDC* pDC=m_pict.GetDC();
CPen RedPen;

RedPen.CreatePen(PS_SOLID,1,RGB(255,0,0));

pDC->SetMapMode(MappingModel);
p D C ->SelectObject(&RedPen);
pDC->LineTo(xold,yold);
p D C ->MoveTo(xnew,ynew);
xold=xnew;
yold=ynew;

}

}
I
if(tikara==1){
yl=atoi(m_tuyox);
y2=atoi(m_tuyoy);
y3=atoi(m_tuyoz);

tu=tu+1,

int x1,yx,yy,yz;
x1l=tu;
yx=y1+30;
yy=y2+90;
yz= y3+150;

CDC* pDC=m_pict.GetDC();

CPen
BluePen,RedPen,GreenPen,BrackPen;
BluePen.CreatePen(PS_SOLID,1,RGB(0,0,255));

p D C ->SelectObject(&BluePen);

p D C ->MoveTo(ya,xa);
pDC ->LineTo(yx,x1);

ya=yx;
/ICDC* pDC=m_pict.GetDC();
RedPen.CreatePen(PS_SOLID,1,RGB(255,0,0));
p D C ->SelectObject(&RedPen);

p D C ->MoveTo(yb,xa);
pDC ->LineTo(yy,x1);

yb=yy;

/ICDC* pDC=m_pict.GetDC();
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GreenPen.CreatePen(PS_SOLID,1,RGB(0,255,0));
p D C ->SelectObject(&GreenPen);
pDC ->MoveTo(yc,xa);
pDC ->LineTo(yz,x1);

yc=yz;

xa=x1;

/1%

if(tu>190){
CDC*pDC=m_pict.GetDC();
CRect myRECT;
m_pict.GetClientRect(myRECT);

pDC->FillSolidRect(myRECT,RGB(255,255,255));
Iy
/*
CDC*pDC=m_pict.GetDC();
CRect myRECT;
m_pict.GetClientRect(myRECT);

pDC->FillSolidRect(myRECT,RGB(255,255,255));
/lz

CDC*pDC3=m_pict3.GetDC();
CRect myRECTS;
m_pict3.GetClientRect(myRECT3);

pDC3->FillSolidRect(myRECT3,RGB(255,255,255));*/

pD C ->SelectObject(&BrackPen);
pDC ->MoveTo(30,0);
pDC ->LineTo0(30,190);
pDC->MoveTo0(90,0);
pDC->LineTo(90,190);
pDC->MoveTo(150,0);
pDC->LineTo(150,190);

x1=0;
xa=0;
ya=30; yb=90; yc=150;
}
/1

if(henkei==1){
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}
UpdateData(false);

}
CDialog::OnTimer(nIDEvent);

void CMCOperDlg::OnExit()

{

// TODO:
if(StartFlag == true) {
KillTimer(READTIMER_ID);
I
}

CDialog::OnClose();
PostMessage(WM_CLOSE, 0, 0);

}

//[Handle Mode Y+
void CMCOperDIg::OnNcsend8()

{
// TODO:
sprintf(sData.command, "Y%d",
counter);
sData.fv[0] = double(1*n);
/IsData.fv[1] = double(m_sm);
sData.fv[2] = double(m_fm);
sock->SockWrite(sData);
sprintf(dummy,"F %.0f mm/min
%.3f " ,sData.fv[2],sData.fv[0] );
m_message = dummy;
UpdateData(false);
}

//[Handle Mode ¥
void CMCOperDIg::OnNcsend4()

{
/I TODO:

sprintf(sData.command, "Y%d", counter);
sData.fv[0] = double(-1*n);
/IsData.fv[1] = double(m_sm);



sData.fv[2] = double(m_fm);
sock->SockWrite(sData);
sprintf(dummy,"F %.0f mm/min %.3f
" ,sData.fv[2],sData.fv[0] );
m_message = dummy;
UpdateData(false);

/[Handle Mode X+
void CMCOperDlIg::OnNcsend5()

{
/ TODO:

sprintf(sData.command, "X%d", counter);
sData.fv[0] = double(1*n);
1 sData.fv[1] = double(m_sm);

sData.fv[2] = double(m_fm);
sock->SockWrite(sData);

sprintf(dummy,"F %.0f mm/min X %.3f

" sData.fv[2],sData.fv[0] );
m_message = dummy;
UpdateData(false);

/IHandle Mode X-
void CMCOperDlIg::OnNcsend6()

{
/I TODO:

sprintf(sData.command, "X%d", counter);
sData.fv[0] = double(-1*n);
1 sData.fv[1] = double(m_sm);

sData.fv[2] = double(m_fm);
sock->SockWrite(sData);

sprintf(dummy,"F %.0f mm/min X %.3f

" ,sData.fv[2],sData.fv[0] );
m_message = dummy;
UpdateData(false);

//[Handle Mode Z+
void CMCOperDlIg::OnNcsend3()

{
/I TODO:
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sprintf(sData.command, "Z%d", counter);
sData.fv[0] = double(1*n);
1 sData.fv[1] = double(m_sm);

sData.fv[2] = double(m_fm);
sock->SockWrite(sData);

sprintf(dummy,"F %.0f mm/min Z %.3f

" ,sData.fv[2],sData.fv[0] );
m_message = dummy;

UpdateData(false);

//[Handle Mode Z
void CMCOperDIg::OnNcsend7()

{
/1 TODO:

sprintf(sData.command, "Z%d", counter);
sData.fv[0] = double(-1*n);
I sData.fv[1] = double(m_sm);

sData.fv[2] = do uble(m_fm);
sock->SockWrite(sData);

sprintf(dummy,"F %.0f mm/min Z %.3f

" ,sData.fv[2],sData.fv[0] );
m_message = dummy;
UpdateData(false);

void CMCOperDlg::OnRadiol()
{
/l TODO:

n=0.001;

void CMCOperDlg::OnRadio2()
{
/I TODO:

n=0.01;

void CMCOperDlIg::OnRadio3()



/l TODO:

n=0.1;

/IDNC Start Button
void CMCOperDlIg::OnButton1()

{
/ TODO:

sprintf(sData.command, "A dnc

start %d", counter);

m_message="DNC

sock->SockWrite(sData);

m_dncstart.EnableWindow(FALSE);

m_dncend.EnableWindow(TRUE);

m_spinstart.EnableWindow(TRUE);
I m_yp.EnableWindow(TRUE);
1 m_xp.EnableWindow(TRUE);
/I m_zp.EnableWindow(TRUE);
/I m_xm.EnableWindow(TRUE);
/I m_ym.EnableWindow(TRUE);
/I m_zm.EnableWindow(TRUE);
CButton*
(CButton*)GetDIgltem(IDC_RADIO1);
radiol->SetCheck(1);
CButton*
(CButton*)GetDIgltem(IDC_RADIO?2);
radio2->SetCheck(0);
CButton*
(CButton*)GetDlgltem(IDC_RADIO3);
radio3->SetCheck(0);
n=0.001,

radiol

radio2

radio3

m_sm = 500;
m_fm = 100;
UpdateData(false);

/IDNC Stop Button
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void CMCOperDlIg::OnButton2()

{
/I TODO:

sprintf(sData.command, "B dnc

end%d", counter);
m_message="DNC

sock->SockWrite(sData);

m_dncstart.EnableWindow(TRUE);

m_dncend.EnableWindow(FALSE);
m_yp.EnableWindow(FALSE);
m_xp.EnableWindow(FALSE);
m_zp.EnableWindow(FALSE);
m_xm.EnableWindow(FALSE);
m_ym.EnableWindow(FALSE);
m_zm.EnableWindow(FALSE);

m_spinstart.EnableWindow(FALSE);

m_spinstop.EnableWindow(FALSE);
UpdateData(false);

void CMCOperDlg::OnChangeEdit1()

{
/I TODO: RICHEDIT
IParam
I ENM_CHANGE

CRichEditCrtl().SetEventMask()
I
CDialog::OnlnitDialog()
I

// TODO:

CEdit* str
=(CEdit*)GetDIgltem(IDC_EDITL1);

char count[10];

int mm;

mm=str->GetLine(0,count,10);

count[mm]=0;

m_sm=atoi(count);



UpdateData(false);

void CMCOperDlg::OnChangeEdit2()

{
/I TODO: RICHEDIT
IParam
1 ENM_CHANGE

CRichEditCrtl().SetEventMask()
1
CDialog::OnlnitDialog()
1

/l TODO:

CEdit* str
=(CEdit*)GetDIgltem(IDC_EDIT2);
char data[10];
intm;
m=str->GetLine(0,data,10);
data[m]=0;
m_fm=atoi(data);

UpdateData(false);

void CMCOperDlg::OnForcebuttonl()
{

/*m_stop.EnableWindow(TRUE);
m_foce.EnableWindow(FALSE);
if(@al==3){
CWnd* h=GetDIgltem(IDC_PICT);
CDC*pDC=h->GetDC();
pDC ->MoveTo(30,0);
pDC ->LineTo(30,190);
p D C ->MoveTo(90,0);
pDC ->LineTo(90,190);
p D C ->MoveTo(150,0);
pDC ->LineTo(150,190);
inty;
for(y=60;y<=180;y=y+60){
pDC->MoveTo(27,y);
pDC->LineTo(32,y);
}
for(y=60;y<=180;y=y+60){
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pDC->MoveTo(87,y);
pDC->LineTo(92,y);
}
for(y=60;y<=180;y=y+60){

pDC->MoveTo(147,y);
pDC->LineTo(152,y);
}
tu=0;
xa=0;
ya=30; yb=90; yc=150;
u=1;}
else if(al==1){
Xx1=atoi(m_macx);
y4=atoi(m_macy);
xnew=x1-272;
ynew=y4+347,
CWnd*
h=GetDIgltem(IDC_PICT);
CDC* pDC=m_pict.GetDC();
CPen RedPen;

RedPen.CreatePen(PS_SOLID,1,RGB(255,0,0));
p D C ->SelectObject(&RedPen);
pD C ->LineTo(xnew,ynew);
p D C ->MoveTo(xold,yold);
xold=xnew;
yold=ynew;
u=2;
}
else if(al==2){
u=3;
Il

void CMCOperDIg::OnPcpgadInit()

{
/1 TODO:

I

I/l Pcpg46.DIl
I




if (FALSE == pcpg.Pcpg46wDIIOpen() ) {

pcpg.ErrorMessage(PCPG46_BSN_AUTO);

return ; /I DLL
}
I
I
I
if ( FALSE ==

pcpg.PcpgdbwGetLibVersion(bData)) {

pcpg.ErrorMessage(PCPG46_BSN_AUTO);
return;

}

wsprintf( szBuf,
_T("PCPG46¥n")
_T("DIl Version %s"),

bData );
pcpg.ResultMessage( szBuf );
I
I
I
if ( FALSE ==

pcpg.Pcpg4bwGetDrvVersion(bData)) {

pcpg.ErrorMessage(PCPG46_BSN_AUTO);
return ;

}

wsprintf( szBuf,
_T("PCPG46¥n")
_T("Drv Version %s"),

bData );
pcpg.ResultMessage( szBuf );
I
1
I

wBsn = PCPG46_BSN_AUTO;
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I
if (
pcpg.Pcpgd46wCreate(&wBsn) ){

FALSE ==

pcpg.ErrorMessage(PCPG46_BSN_AUTO);
return;

}

wsprintf( szBuf,
_T("PCPGA46 Created¥n")
_T("BSN Number %d"), wBsn );

pcpg.ResultMessage( szBuf);

I

I
I

if ( FALSE ==
pcpg.Pcpgd6wGetResource(wBsn, &ri)){
pcpg.ErrorMessage(wBsn);

return ;

\}Nsprintf(szBuf, _T("Board Name: %s¥n")
_T("10 Address : %04Xh-%04Xh¥n"),
szPcpg46,
ri.dwlOPortBase[1],ri.dwlOPortBase[1] +

ri.dwlOPortLength[1]- 1);
pcpg.ResultMessage(szBuf);

11
i
I

WAXis = PCPG46_AXIS_1;
I

I
I

if ( FALSE ==
pcpg.Pcpgd6_InitAxis(wBsn,wAXis){
pcpg.ErrorMessage(wBsn);



return;
}
wsprintf( szBuf,
_T("PCPG46¥n™)
T %d
"), WAXis );
pcpg.ResultMessage( szBuf );
hDeviceHandle = AdOpen("FBIAD1");
if (hDeviceHandle =
INVALID_HANDLE_VALUEX

MessageBox("Device  FBIAD1
")
}
elsef
MessageBox("AD
)
}
SetMatrix();
GetOrgAD();
GetCalAD();

CalcMstPerBit();
CalcSensorNon();
m_pcpgadlnit.EnableWindow(FALSE);

/I m_pcpgadClose.EnableWindow(TRUE);

m_joystickStart.EnableWindow(TRUE);
1
m_joystickStop.EnableWindow(TRUE);

}

I* */

void CMCOperDIg::SetMatrix()
{

int axis, index;

nonintfMatrix[0][0] = 1.03371,;
nonintfMatrix[0][1] = -0.725237,
nonlIntfMatrix[0][2] = 0.186736;
nonintfMatrix[1][0] =-0.148806;
nonintfMatrix[1][1] = 0.722155;
nonintfMatrix[1][2] = 0.012234;
nonintfMatrix[2][0] = 1.10853;
nonlintfMatrix[2][1] = -0.34993;
nonintfMatrix[2][2] = -1.28004;
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newtonPerMst[0] = 1.0;
newtonPerMst[1] = 1.0;
newtonPerMst[2] = 1.0;
for (axis = 0; axis < AXIS_NUM; axis++) {
for (index = 0; index < AXIS_NUM;
index++) {
newtonPerMstMatrix[axis][index] =
newtonPerMst[axis] *
nonIntfMatrix[axis][index];
}
}
} I* SetMatrix() */

/* Omst. A/D adDataOrg
*/
void CMCOperDlg::GetOrgAD()
{
static int meani = 10; /* meani
*/

int mi, axis;

int tmpDataOrg[AXIS_NUM];

/* tmpDataOrg */
for (axis = 0; axis < AXIS_NUM; axist+)
tmpDataOrg[axis] = 0;
wsprintf( szBuf,
_T("PCPG46¥n")
_T("Balance Strain Amp. and
Hit Return"));
pcpg.ResultMessage( szBuf);

/* Sample the data from each axis of AD converter
*/
[* Calculate the sum of each axis */
SmplChReq[0].ulChNo = 1,
SmplChReq[0].ulRange = AD_5V,;
SmplChReq[1].ulChNo = 2;
SmplChReq[1].ulRange = AD_5V;,
SmplChReq[2].ulChNo = 3;
SmplChReq[2].ulRange = AD_5V;

for (mi = 0; mi < meani; mi++) {
AdInputAD(hDeviceHandle, 3,



AD_INPUT_SINGLE, &SmplChReq[0], &wSmpData);
for (axis = 0; axis < AXIS_NUM;
axis++)
tmpDataOrg[axis] =
tmpDataOrg[axis] +(int)wSmpData[axis];
Sleep(100);
}
/* Calculate the avarage of each axis and Print
them */
for (axis = 0; axis < AXIS_NUM; axis++) {
adDataOrg[axis] =
(int)(tmpDataOrg[axis] / meani);
}
sprintf(dummy, "%d",adDataOrg[0]);
m_fx=dummy;
sprintf(dummy, "%d",adDataOrg[1]);
m_fy=dummy;
sprintf(dummy, "%d",adDataOrg[2]);
m_fz=dummy;
UpdateData(false);
} I* GetOrgAD() */

/* 100mst. A/D
adDataCal */
void CMCOperDlg::GetCalAD()
{
static int meani = 10;
*/

/* meani

int mi, axis;
int tmpDataCal[AXIS_NUM]J;

/* tmpDatacCal */
for (axis = 0; axis < AXIS_NUM; axist+)
tmpDataCal[axis] = 0;
wsprintf( szBuf,
_T("PCPG46¥n")
_T("Turn on 100 micro strain
calibration switch and Hit Return"));

pcpg.ResultMessage( szBuf );

SmplChReq[0].ulChNo = 1;
SmplChReq[0].ulRange = AD_5V;,
SmplChReq[1].ulChNo = 2;
SmplChReq[1].ulRange = AD_5V;
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SmplChReq[2].ulChNo = 3;
SmplChReq[2].ulRange = AD_5V;

for (mi = 0; mi < meani; mi++) {
AdlInputAD(hDeviceHandle, 3,
AD_INPUT_SINGLE, &SmpIChReq[0], &wSmpData);
for (axis = 0; axis < AXIS_NUM,; axis++)
tmpDataCal[axis] =
tmpDataCal[axis] +(int)wSmpData[axis];
Sleep(100);

for (axis = 0; axis < AXIS_NUM; axis++) {
adDataCal[axis] =
(int)(tmpDataCal[axis] / meani);
}
sprintf(dummy, "%d",adDataCal[0]);
m_fx=dummy;
sprintf(dummy, "%d",adDataCal[1]);
m_fy=dummy;
sprintf(dummy, "%d",adDataCal[2]);
m_fz=dummy;
UpdateData(false);
wsprintf( szBuf,
_T("PCPG46¥n")
_T("Turn off Cal and Hit
return¥n"));

pcpg.ResultMessage( szBuf);

} I* GetCalAD() */
[* calibration */
void CMCOperDlg::CalcMstPerBit()
{
int axis;
/* (100ust ) */

for (axis = 0; axis < AXIS_NUM; axis++) {
mstPerBit[axis]
= (double)100.0 / (adDataCallaxis] -
adDataOrg[axis]);
}
sprintf(dummy, "%If",mstPerBit[0]);

m_fx=dummy;



sprintf(dummy, "%If",mstPerBit[1]);
m_fy=dummy;

sprintf(dummy, "%If",mstPerBit[2]);
m_fz=dummy;
UpdateData(false);

} I* CalcMstPerBit() */

/* newtonPerMstMatrix x mstPerBit = sensorNon
*/

void CMCOperDlg::CalcSensorNon()

{

int axis, index;

/* x */
for (axis = 0; axis < AXIS_NUM; axis++) {
for (index = 0; index < AXIS_NUM; index++) {
sensorNon[axis][index]
= newtonPerMstMatrix[axis][index] *
mstPerBit[axis];
}

}
} I* CalcSensorNon() */

void CMCOperDlIg::OnPcpgadClose()

{
/] TODO:

AdClose(hDeviceHandle);

I

1
I

if (FALSE == pcpg.Pcpg46wClose(wBsn)){
pcpg.ErrorMessage(wBsn);
return ;

}

wsprintf( szBuf,
_T("PCPG46 Close¥n")
_T("Bsn %d"), wBsn );
pcpg.ResultMessage( szBuf);
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I/ Pcpg46.DIl
Il

if ( FALSE == pcpg.Pcpg46wDIIClose()) {

pcpg.ErrorMessage(PCPG46_BSN_AUTO);
return ;
/I DLL

m_pcpgadlnit.EnableWindow(TRUE);
m_pcpgadClose.EnableWindow(FALSE);
m_joystickStart.EnableWindow(FALSE);
m_joystickStop.EnableWindow(FALSE);

return ;

void CMCOperDlg::OnJoystickStop()

{
/I TODO:

1 KillTimer(1);
joystickStart = 0;
m_pcpgadlnit.EnableWindow(FALSE);
m_pcpgadClose.EnableWindow(TRUE);
m_joystickStart.EnableWindow(TRUE);
m_joystickStop.EnableWindow(FALSE);

void CMCOperDlg::OnJoystickStart()

{
/I TODO:

int axis;

counter = 0O;
for (axis = 0; axis < AXIS_NUM; axis++)
meanForce[axis] = 0.0;

joystickStart = 1;



/I SetTimer(1,5,NULL);
m_pcpgadlnit.EnableWindow(FALSE);
m_pcpgadClose.EnableWindow(FALSE);

m_joystickStart.EnableWindow(FALSE);
m_joystickStop.EnableWindow(TRUE);

void CMCOperDlIg::OnHandlemode()

{
/ TODO:

m_handlemode = 1,
m_pcpgadlnit.EnableWindow(FALSE);

m_pcpgadClose.EnableWindow(FALSE);

m_joystickStart.EnableWindow(FALSE);

m_joystickStop.EnableWindow(FALSE);
m_xp.EnableWindow(TRUE);
m_yp.EnableWindow(TRUE);
m_zp.EnableWindow(TRUE);
m_xm.EnableWindow(TRUE);
m_ym.EnableWindow(TRUE);
m_zm.EnableWin dow(TRUE);

void CMCOperDlg::OnButton3()

{
/I TODO:

m_stop.EnableWindow(FALSE);
m_henkei.EnableWindow(TRUE);
m_kakou.EnableWindow(TRUE);
m_tikara.EnableWindow(TRUE);
m_foce.EnableWindow(FALSE);
CDC*pDC=m_pict.GetDC();
CRect myRECT;
m_pict.GetClientRect(myRECT);
pDC->FillSolidRect(myRECT,RGB(255,255
1255));
henkei=0;
kakou=0;

tikara=0;

void CMCOperDlg::OnJoystickmode()

{
/I TODO:

m_handlemode = 0;
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m_pcpgadlnit.EnableWindow(TRUE);

/1
m_pcpgadClose.EnableWindow(TRUE);
1
m_joystickStart.EnableWindow(TRUE);
/1
m_joystickStop.EnableWindow(TRUE);
m_xp.EnableWindow(FALSE);
m_yp.EnableWindow(FALSE);
m_zp.EnableWindow(FALSE);
m_ xm.EnableWindow(FALSE);
m_ym.EnableWindow(FALSE);
m_zm.EnableWindow(FALSE);

void CMCOperDIg::OnSPINDLESTOP()

{
/I TODO:

m_spinstart.EnableWindow(TRUE);
m_spinstop.EnableWindow(FALSE);
sprintf(sData.command, "L Spindle
from client %d", counter);
sock->SockWrite(sData);
KillTimer(READTIMER_ID);

m_message ="SPINDLE STOP";

UpdateData(false);

void CMCOperDIg::OnSindleStart()

{
/I TODO:

m_spinstop.EnableWindow(TRUE);

stop



m_spinstart.EnableWindow(FALSE);
sprintf(sData.command, "M SPINDLE

START %d", counter);

sData.fv[0] = double(m_sm);
sock->SockWrite(sData);
KillTimer(READTIMER_ID);

m_message ="SPINDLE START";
UpdateData(false);

void CMCOperDlg::OnCStart()

{

/*

/l TODO:

sprintf(sData.command, "a%d", counter);

if(m_C1 == TRUE){
sData.fv[0] = double(1);

}

else if (m_C1 == FALSE)
sData.fv[0] = double(0);

}

else if (m_C2 == TRUE){
sData.fv[1] = double(1);

}

else if (m_C2 == FALSE){
sData.fv[1] = double(0);

}

else if (m_C3 == TRUEX
sData.fv[2] = double(1);

}

else if (m_C3 == FALSE){
sData.fv[2] = double(0);

}

else if (m_C4 == TRUE)
sData.fv[3] = double(1);

}

else if (m_C4 == FALSE)
sData.fv[3] = double(0);

}

else if (m_C5 == TRUE){
sData.fv[4]= double(1);

}

else if (m_C5 == FALSE)

sData.fv[4] = double(0);

}

else if (m_C6 == TRUE)
sData.fv[5] = double(1);

}

else if (m_C6 == FALSE){
sData.fv[5] = double(0);

}

else if (m_C7 == TRUE)
sData.fv[6] = double(1);

}

else if (m_C7 == FALSE){
sData.fv[6] = double(0);

}

else if (m_C8 == TRUE){
sData.fv[7] = double(1);

}

else if (m_C8 == FALSE){
sData.fv[7] = double(0);

}

else if (m_C9 == TRUE)
sData.fv[8]= double(1);

}

else if (m_C9 == FALSE){
sData.fv[8] = double(0);

}

else if (m_C10 == TRUE)
sData.fv[9] = double(1);

}

else if (m_C10 == FALSE){
sData.fv[9] = double(0);

}

else if (m_C11 == TRUE)
sData.fv[10] = double(1);

}

else if (m_C11 == FALSE){
sData.fv[10] = double(0);

}

else if (m_C12 == TRUE){
sData.fv[11] = double(1);

}

else if (m_C12 == FALSE){
sData.fv[11] = double(0);

}

else if (m_C13 == TRUE){
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sData.fv[12]= double(1);
}
else if (m_C13 == FALSE){
sData.fv[12] = double(0);
}
else if (m_C14 == TRUE){
sData.fv[13] = double(1);
}
else if (m_C14 == FALSE){
sData.fv[13] = double(0);

}
sock->SockWrite(sData);

KillTimer(READTIMER_ID);
UpdateData(false);*/

void CMCOperDIg::OnC1()

{
/I TODO:

if(m_C1 == TRUEX
m_C1 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_C1 == FALSEY{
m_C1 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);
sprintf(sData.command, "a");

void CMCOperDlIg::0OnC2()

{
/ TODO:

if(m_C2 == TRUE){
m_C2 = FALSE;
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sData.fv[0] = double(0);
m_message =" ;
}
else if (m_C2 == FALSE){
m_C2 = TRUE;
sData.fv[0] = double(1);
m_message =" ;

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);

sprintf(sData.command, "b");

void CMCOperDIg::OnC3()

{
/I TODO:

if(m_C3 == TRUE)
m_C3 = FALSE;
sData.fv[0] = double(0);
m_message =" ;
}
else if (m_C3 == FALSE){
m_C3 = TRUE;
sData.fv[0] = double(1);

m_message =" "

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);
sprintf(sData.command, "c");

void CMCOperDIg::0OnC4()

{
/I TODO:

if(m_C4 == TRUE)
m_C4 = FALSE;
sData.fv[0] = double(0);



m_message ="ATC
}
else if (m_C4 == FALSEY{
m_C4 = TRUE;
sData.fv[0] = double(1);

m_message ="ATC

}
sock->SockWrite(sData);

KillTimer(READTIMER_ID);
UpdateData(false);
sprintf(sData.command, "f*);

void CMCOperDIg::OnC5()

{
/ TODO:

if(m_C5 == TRUEX
m_C5 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_C5 == FALSE)
m_C5 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);

KillTimer(READTIMER_ID);
UpdateData(false);

sprintf(sData.command, "e");

void CMCOperDlIg::0OnCé6()

{
/I TODO:

if(m_C6 == TRUE)
m_C6 = FALSE;
sData.fv[0] = double(0);

m_message ="ATC

}
else if (m_C6 == FALSE)
m_C6 = TRUE;
sData.fv[0] = double(1);
m_message ="ATC

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);
sprintf(sData.command, "d");

void CMCOperDlg::OnChl()

{

/I TODO:

if(m_Ch1l == TRUE)
m_Chl = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch1 == FALSE){
m_Chl = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);

sprintf(sData.command, "g");

void CMCOperDlg::0OnCh2()

{

/I TODO:

if(m_Ch2 == TRUE)
m_Ch2 = FALSE;
sData.fv[0] = double(0);

m_message ="

}
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else if (m_Ch2 == FALSE){
m_Ch2 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);

KillTimer(READTIMER_ID);
UpdateData(false);

sprintf(sData.command, "h");

void CMCOperDlIg::OnCh3()

{
/1 TODO:

if(m_Ch3 == TRUE){
m_Ch3 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch3 == FALSE){
m_Ch3 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);

KillTimer(READTIMER_ID);
UpdateData(false);

sprintf(sData.command, "i");

void CMCOperDlg::0OnCh4()

{
/I TODO:

if(m_Ch4 == TRUE){
m_Ch4 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch4 == FALSE){

m_Ch4 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);
sprintf(sData.command, "j");

void CMCOperDlIg::OnCh5()

{
/I TODO:

if(m_Ch5 == TRUE)
m_Ch5 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch5 == FALSE){
m_Ch5 = TRUE;
sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);
sprintf(sData.command, "k");

void CMCOperDlIg::0OnChé()

{
/I TODO:

if(m_Ch6 == TRUE)
m_Ch6 = FALSE;
sData.fv[0] = double(0);
m_message ="
}
else if (m_Ch6 == FALSE){
m_Ch6 = TRUE;
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sData.fv[0] = double(1);

m_message ="

}
sock->SockWrite(sData);

KillTimer(READTIMER_ID);
UpdateData(false);

sprintf(sData.command, "I');

void CMCOperDlg::OnCh7()

{
/1 TODO:

if(m_Ch7 == TRUE){
m_Ch7 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_Ch7 == FALSE){
m_Ch7 = TRUE;
sData.fv[0] = double(1);
m_message ="ATC

}
sock->SockWrite(sData);

KillTimer(READTIMER_ID);
UpdateData(false);

sprintf(sData.command, "m");

void CMCOperDlg::0OnCh8()

{
/I TODO:

if(m_Ch8 == TRUE){
m_Ch8 = FALSE;
sData.fv[0] = double(0);
m_message ="ATC
}
else if (m_Ch8 == FALSE)
m_Ch8 = TRUE;
sData.fv[0] = double(1);
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m_message ="ATC ;

}
sock->SockWrite(sData);
KillTimer(READTIMER_ID);
UpdateData(false);
sprintf(sData.command, "n");

void CMCOperDlg::Onkakou()

{
/I TODO:

kakou=1;
m_kakou.EnableWindow(FALSE);
m_henkei.EnableWindow(FALSE);

m_tikara.EnableWindow(FALSE);

m_stop.EnableWindow(TRUE);

void CMCOperDIg::O nhenkei()

{
/I TODO:

m_kakou.EnableWindow(FALSE);
m_henkei.EnableWindow(FALSE);

m_tikara.EnableWindow(FALSE);

m_stop.EnableWindow(TRUE);

void CMCOperDlg::Ontikara()

{
/I TODO:

tikara=1;
m_kakou.EnableWindow(FALSE);
m_henkei.EnableWindow(FALSE);
m_tikara.EnableWindow(FALSE);
m_stop.EnableWindow(TRUE);
CWnd* h=GetDlIgltem(IDC_PICT);
CDC*pDC=h->GetDC();
p D C ->MoveTo(30,0);



pDC ->LineTo(30,190);
p D C ->MoveTo(90,0);
pDC ->LineTo(90,190);
p D C ->MoveTo(150,0);
pDC ->LineTo(150,190);
inty;
for(y=60;y<=180;y=y+60){
pDC->MoveTo(27,y);
pDC->LineTo(32,y);
}
for(y=60;y<=180;y=y+60){
pDC->MoveTo(87,y);
pDC->LineTo(92,y);
}
for(y=60;y<=180;y=y+60){

pDC->MoveTo(147,y);
pDC->LineTo(152,y);
}
tu=0;
xa=0;
ya=30; yb=90; yc=150;
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